SM3E6H15H
CR O R S =

V9 FUEBEOEHRTEEFICONT

1 RECEBEKIARUFHINE (B
(1) #EEKRR (6 A 13H (H) FEMimyET)

23 AR R
1A : 146,900 | 1[@E : 153 400
yf 4 223, 600 ’
R # = 2o®|H : 76 700 [51.0%]
o | LA 6,500 2111 - 78, 000
AR i 2mp - 1000 | [25-9%]
WZRBIT D e #1 14,900 : 5,800
Z — 1[EH @5,
2 [mH : 1,300
e 1=H: 4,000
ERUEFE | e 7 000m
~OFFE 2EH : 3,200
1| E : 163, 200
N k-
& &t %9 245, 700 [m] SEE : 82,500
(2) FHKR (6 H 13 H (H) 17 FrRER)
B EE TR
TR T =
1[EH : 188, 300 1EE :[62.6%]
%9 328, 800
# # 2 [a1H : 140, 500 2@ H : [46. 7%]

2 A=t E—DI7)—FAVYILADEREIZDINT
(1) HEEFEES 0120—489—199 (G@EzEE: R
(2) EEHE SR3E6H 148 (H) FRi9RENS

% IRFEE (0570 THREA T EX A Y) [CEFENTESIL. SFENICLY ., #FiF5 (71U —
A X)) ZRZHNLET GaEEF : MR,

3 6/30 (K) LIEDOEFEERIFBICDONT

(1) EBE
OK K-+ F% (14:00~17:00)
OH SRR - F% (10:00~13:00,14:00~17:00)

1



(2) EERSOEH
7 ZERREORE

T~9HDOBE XKD,
(Z2FHERAE D 72 W R I IE, BRI

e e
AX 25

A4 AAMEH (FEOVLWITIhANIZEETEHLD)
@O BRANAZEED BAES 10 57 LLN O S @AIENE D i i 53
@ k5E DOEERG MR T E 5 ik
@ AZi@EFIENE T E < 2V s, RO RIS OF A3 RIA E 0 5 ek

(3) #ERG (1 5R15)

ZERHRRAR A3 8 D ik & T D,
W IET D)

X =15 miE (m) X 215 miE (m)
O FEIFRBEL 7 LA A 500 @7 v h 600

— EREX : —
FEIR |O#MEIAEEE 850 i @At 3 58 1 F 300t
OIEXHEMK EE 1 F 800m| /\IBERRX |@H AR RKAKELE 1, 500
OV B AR A RS , OaryT 4 370nt

ZIKEH»EPJE#&:E 1,4001’1'1 — O
INEIER BT RN QR AF—Y C 1,100mt

. J\IEFEX
@AF 4T F—»A 5, 000 @M E A 1, 300nd
O/NEREESFEC 1,000t @FH AR—YC 6601
INEMmRX
OEIRIRBEEE 1,100m| PR |(OEAEAKR—YC 1, 500t
4 {ERIEEDRIRIZCDOINT

(1) EfEDBEMZ T EEERE 411 HE
(9 B THRISATABR - 201 #6BA. FEZABA : 198 BEBE. AR7E : 12 F%E3)

6 H FRITE

(2) FHIZELE

(3) EiERLA

(4) FHAE
QRN 15

TH1H (k) P&

A —Fy N (PRERYA N, a—rer¥— KEFHRED,
EERERI R O (EREEIC L B D)

@ FLEDZEE (MM YDTEBEDARNRDIFE)
= A% B 78 1

5 REL. ABRFERNRET IBEEEICOVT

(1) = 8 & B BEf IR (REPT. BER%REY 7 77%)
BIRE (GhHER. /b - - BRI, WS ARE)
I - BEERR ALY — B A HEFTIERE GBI 755

(2) EreHiR THE2BNOK2 » HE
(3) ZEEIGFr HHBHDHCity, B M T 4 (258)

2



